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PSC Clerkship (Prelims) Exam. – Practice Set

Answers with Explanation
1. (b) 29 ç 30 ˜Áºîû •yîûyÐ
2. (b)  ¢%öìîûw˜yí îöì̈ Äyþ™y•Äyëû 1876 ¢yöìœ ²Ì!“þÛþy „þöìîû̃ Ð

 ›)œ vþzöì”Äy_«y !Šéöìœ˜ !“þ!˜ ç xy˜¨öì›y£˜ î¢%Ð
 1882 ¢yöìœ ²Ì!“þÛþy „þöìîû̃  !îûþ™˜ „þöìœ‹Ð
 1895éôé~ þ™%˜yëûÐ 1902 ¢yöìœ „þ‚öì@ùÌ¢ ¢¦þyþ™!“þ

!˜îÅy!‰þ“þ £˜Ð
 îûyÜTÉ=îû& ˜yöì› þ™!îû!‰þ“þÐ 1921éôé~ ˜y£zÝþ vþzþ™y!• þ™y˜Ð

3. (b)  vþQîû îûyöì‹w²Ì¢y”éôô  þ™yÝþ˜yëû ‹y“þ#ëû „þöìœ‹ ²Ì!“þÛþy
„þöìîû̃ Ð †’ þ™!îû¡ìöì”îû ²Ìí› ¢!‰þî !Šéöìœ˜Ð š%þvþ xÄyuþ
~!@ùÌ„þyœ‰þyîûyœ !î¦þyöì† xhsþîÅ“Åþ# ¢îû„þyöìîûîû !›!˜ÞÝþyîûéô
é£z̃ éôé‰þyöì‹Åîû þ™öì” !˜ë%_« £öìëû!Šéöìœ˜Ð

 1962 ¢yöìœ !“þ!˜ ¦þyîû“þ îûb þ™%îûßþñyöìîû ¦)þ!¡ì“þ £˜Ð
 ö”Ÿ S!£!¨ ¢y®y!£„þV ¢‚îy”þ™öìeîû ¢Á™y”˜y „þöìîû!Šéöìœ˜Ð

4. (b) ö„þw#ëû “þíÄ ç ¢Á±‰þyîû ›sþf„þ ¢Á±!“þ !›öì‹yîûyöì›îû
xy£z‹öìœ 500“þ› „þ!›vþz!˜!Ýþ öîû!vþç öÜTŸ˜ 'Apna Radio
90.0 FM' ‰þyœ% „þöìîûöìŠéÐ

5. (b) ²Ìí› ‹#îöì̃  xyœyvþz!j˜ …œ!‹ e«#“þ”y¢ !Šéöìœ˜ ˜yÐ “¤þyîû
xy¢œ ˜y› =îû&ŸyÁ™Ð !“þ!˜ £z„þ“þy ²Ìíy îõþ „þöìîû ö”˜Ð
!“þ!˜ !îÍº ˜y›„þ þ™!îû›yþ™ þ™kþ!“þ ‰þyœ% „þöìîû̃ Ð xyœyvþz!jöì̃ îû
²Ì•y˜›sþf#îû ˜y› ›y!œ„þ „þyš%þîûÐ

6. (b) öþ™˜†Dy ö†y”yîîû# ˜”#îû vþzþ™˜”#Ð ö†y”yîîû# ˜”# ›£yîûyöìÜTÉîû
›£yîyöìœÙ»îû öíöì„þ ¢,!ÜT £öìëûöìŠéÐ “þyîûþ™îû ö“þöìœDy˜y–
Šé!_Ÿ†vþü– xõÉþ²Ìöì”Ÿ ç þ™!uþöì‰þîû#îû ›•Ä !”öìëû ²Ìîy!£“þ £öìëû
îöìDyþ™¢y†öìîû þ™öìvþüöìŠéÐ ~îû ÷”‡ÅÄ 1290 !„þ!›Ð

7. (a) öîû!Ýþ˜y ç xþ™!Ýþ„þ ßþ¬yëû% ßþiœöì„þ xõþ!î %̈ îöìœÐ öîû!Ýþ˜y ç
xþ™!Ýþ„þ ßþ¬yëû%îû !›œ˜ßþiöìœ ö„þy˜ !„þŠ%é ö”…y ëyëû ˜yÐ

8. (d) ¢Á±!“þ „þ’ÅyÝþöì„þîû öîDyœ%îû&öì“þ xî!ßþi“þ ¢”îû „þyëÅyœëû ¢£
Covrzy ˜y›„þ !î›y ö„þyÁ™y!˜ IRDAI-~îû „þyŠé öíöì„þ
vþy£zöìîûQ öîÊy!„þ‚ œy£zöì¢ª œy¦þ „þöìîûöìŠÐ

9. (b) !¦þÝþy!›˜ x¦þyî‹!˜“þ öîûy† vþzê¢
A Söîû!Ýþ˜œV îûy“þ„þy˜y !‰þ‹– !e«›– ›y…˜–

!vþ›– !œ¦þyîû
D S„þÄyœ!¢öìšþîûœV !îûöì„þÝþ ç x!ÞÝþç !vþöì›îû „%þ¢%›–

›Äyöìœ!¢ëûy !œ¦þyîû– ›y‚¢œ
›yŠé

E SöÝþöì„þyöìšþîûœV îõþÄyc ö¦þ¡ì‹ ö“þœ
Sö¢yëûy!î˜– ¦%þRy–
“%þœyîû î#‹– ¢î%‹
þ™y“þyë%_« ¢î!‹V

K Sšþy£zöìœy„%þ£z̃ ˜V îû_«“þMþé˜ öîûy• ¢î%‹ Ÿy„þ¢î!‹

10. (b) |˜!î‚Ÿ Ÿ“þy·#îû ”yŸÅ!˜„þ– xíÅ̃ #!“þ!î”– ¢y‚îy!”„þ ~î‚
!î²Õî# „þyœÅ›y„Åþ¢ ç öšÊþvþ!îû„þ ~öìDœöì¢îû “þöì_î́û vþzþ™îû
!¦þ!_ „þöìîû †öìvþü çàþy îûy‹÷ì̃ !“þ„þ x˜%Ÿ#œ˜ ç ¢y›y!‹„þ
“þ_´Ð ú!“þ£y!¢„þ îlßþîy”# ç þ™% ¤!‹îyöì”îû !î˜yöìŸîû
¢›yöìœy‰þ˜yÐ

11. (c) œvÅþ ˜íÅîÊ&„þ 1876 !…ÊÞÝþyöì· ˜yÝþÄy!¦þ˜ëû !˜ëûsþf’ xy£z̃
²Ìî“Åþ˜ „þöìîû̃ Ð îvþüœyÝþ œvÅþ ˜íÅîÊ&„þ ˜yÝþÄy!¦þ˜ëû !˜ëûsþf’ xy£z̃
þ™yŸ „þöìîû ˜yÝþ„þ ²Ì”ŸÅöì̃ îû vþzþ™îû !˜öì¡ì•yKþy ‹y!îû „þöìîû̃
1876 !…ÊÞÝþyöì·îû 14 ›y‰ÅþÐ

12. (c) îûyÜTÉþ™!“þ öoïþ™”# ›%›Å% îûyÜTÉþ™!“þ ¦þîöì̃ îû ”îûîyîû £öìœîû ˜y›
þ™!îûîÅ“þ˜ „þöìîû ˜“%þ˜ †’“þsþf ›uþþ™ ˜y› îûy…y £öìëûöìŠéÐ ~!”˜
xöìŸy„þ £öìœîû ˜y› þ™!îûîÅ“þ˜ „þöìîû òxöìŸy„þ ›uþþ™ó îûy…y
£öìëûöìŠéÐ

13. (b) 1962 ¢yöìœ ¦þyîû“þ ˜î‹çëûy˜ ¢¦þy ¢”Åyîû ¦þ†“þ !¢‚
²Ì!“þÛþy „þöìîû̃ Ð ¦þ†“þ !¢‚ !Šéöìœ˜ ¦þyîû“þ#ëû vþzþ™›£yöì”öìŸ
!îÊ!ÝþŸ xyöì¨yœöì˜îû ~„þ‹˜ !î²Õî#Ð !“þ!˜ !£¨%ßþiy ì˜
ö¢yŸÄy!œÞÝþ !îûþ™yî!œ„þy˜ xÄyöì¢y!¢öìëûŸöì˜îû ¢öìD ë%_«
!Šéöìœ˜Ð

14. (c) ¦þoîyý îû!‰þ“þ @ùÌsþi „þÒ¢)eÐ ~!Ýþ ~„þ!Ýþ ÷‹˜ •›Å@ùÌsþiÐ ~£z
@ùÌöìsþi ÷‹˜ “þ#íÅBþîûöì”îû ‹#î˜# þ™yçëûy ëyëûÐ “þ#íÅBþîû þ™yÙ»Å̃ yí
ç ›£yî#öìîûîû ‹#î˜# ~£z @ùÌöìsþi !îöìŸ¡ì¦þyöìî xyöìœy!‰þ“þ
£öìëûöìŠéÐ

15. (c) 1869 öíöì„þ 1872 ¢yœ þ™ëÅhsþ ¦þyîûöì“þîû ¦þy£z¢îûëû ~î‚
†¦þ˜Åîû ö‹˜yöìîûœ !Šéöìœ˜ œvþœ ö›öìëûyÐ !“þ!˜ ö›öìëûyîû þ™Mþé›
xyŸÅéôé~îû þ™%eÐ !“þ!˜ ¦þyîûöì“þîû ¦þy£z¢îûëû !˜ë%_« £çëûyîû
þ™)öìîÅ xyëûyîûœÄyuþ !î¡ìëû„þ ”®öìîûîû ›%…Ä¢!‰þî !Šéöìœ˜Ð

16. (d) 27 ‹%œy£z ¢yîûy ö”Ÿ‹%öìvþüü !¢xyîû!þ™~šþ šþyvþzöìuþŸ˜ övþ
þ™y!œ“þ £œÐ 1939 ¢yöìœîû 27 ‹%œy£z ö¢rÝþÆyœ xy›Åvþ
þ™%!œŸ öšþy¢Å ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ “þy£z ö¢£z !”˜!Ýþîû ßþ¿îûöì’
¢yîûy ö”Ÿ‹%öìvþü ~£z !”˜!Ýþ þ™y!œ“þ £öìëû xy¢öìŠéÐ

17. (c) šþy£z!îÊöì̃ yöì‹˜ îû_«îûöì¢ íyöì„þÐ šþy£z!îỄ  ‡˜ ‹yœöì„þîû xy„þyöìîû
îû_« „þ!’„þy=!œöì„þ xyîkþ „þöìîû– šþöìœ ‹›yÝþ öî¤öì• ëyëûÐ

18. (d) £îû̄ y– þ™%öìîûy ~œy„þy!Ýþ !Šéœ !e¦%þöì‹îû ˜ÄyëûÐ xyëû“þ˜ 12
œÇþ 50 £y‹yîû î†Å !„þöìœy!›ÝþyîûÐ ö›öì¢yþ™öìÝþ!›ëûyîû ö‰þöìëû
12 =’ îvþüÐ î“Åþ›yöì˜ £îû̄ y ¢¦þÄ“þyîû 1400!Ýþ ö„þw
xy!îÜ,ñ“þ £öìëûöìŠéÐ £îû̄ y ç ›öì£öìOy”yöìîûy ˜†îû=!œîû ›öì•Ä
”)îûc ²Ìyëû 483 !„þ!›Ð ›öì£öìOy”yöìîûy xMþéöìœ ¢îÅ¢y•yîûöì’îû
‹˜Ä ~„þ!Ýþ !îîûyÝþ î¤y•yöì̃ y ßþ¬y˜y†yîû þ™yçëûy ö†öìŠéÐ ëyîû
xyëû“þ˜ ÷”öì‡ÅÄ 180 š%þÝþ– ²Ìöìßþi 108 š%þÝþÐ ‰þy!îû!”öì„þ 8 š%þÝþ
vþz¤‰%þ £z¤öìÝþîû ö”çëûyœÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 6  xöìQyîîû– 20242

19. (d) ¢îÅ²Ìí› “þ#íÅBþîû !Šéöìœ˜ }¡ì¦þöì”îÐ
24“þ› “þ#íÅBþîû !Šéöìœ˜ ›£yî#îûÐ
î•Å›y˜ ›£yî#îû xy˜%›y!˜„þ 540 !…ÊÞÝþþ™)îÅyöì· ÷îŸyœ#îû
vþzþ™„þöìZþ „%þ¨@ùÌy› îy „%þ¨þ™%îû Sî“Åþ›yöì̃  ›‹ƒšþîûþ™%îû ö‹œyîû
î¢yîû @ùÌyöì›V ‹§Ã @ùÌ£’ „þöìîû̃ Ð

20. (d) ¢Á±!“þ ~!Ÿëûy˜ !vþ‹yÞÝþyîû !²Ìöìþ™ëûyvÅþöì˜¢ ö¢rÝþyîûéôé~îû
ö‰þëûyîû›y˜ !£¢yöìî !˜ë%_« £öìœ˜ îûyöì‹w !¢‚Ð !“þ!˜ ~£z
²Ì!“þÛþyöì̃  ¦þyîûöì“þîû £öìëû ²Ì!“þ!˜!•c „þîûöìî˜Ð

21. (c)  öîû=öìœ!Ýþ‚ xÄyöìQîû ”%îÅœ“þy ”)îû „þîûyîû ‹˜Ä !îÊ!ÝþŸ
²Ì•y˜›sþf# vþz£z!œëûy› !þ™Ýþ !îÊ!ÝþŸ þ™yœÅyöì›öìrÝþ xy£z̃  þ™yŸ
„þöìîû̃ Ð

 †¦þ˜Åîû ö‹˜yöìîûöìœîû „þyvþz!ªöìœîû ¢‚…Äy 4 öíöì„þ „þ!›öì›
3 „þîûy £ëûÐ

 öîyÁ¿y£z ç ›yoy‹ ö²Ì!¢öìvþ!ªîû çþ™îû “þyîû þ™)’Å „þ“Å,þc
²Ì!“þ!Ûþ“þ £ëûÐ

 6 ‹˜ „þ!›Ÿ˜yîû !˜öìëû öîyvÅþ xšþ „þöìrÝþÆyœ †!àþ“þ £ëûÐ
²Ìí› ¢¦þyþ™!“þéôô ö£˜!îû †uþy¢Ð

22. (c)  ¦þyîûöì“þîû öŸ¡ì ¦þy£z¢îûëû œvÅþ ›yvþzrÝþîÄyöìÝþ˜Ð
 ¢›ëû„þyœ ›y‰Åþ– 1947 éôé ‹%̃ – 1948Ð
 íyvÅþ ‹%̃ ²ÕÄy˜ éôô 1947Ð
 “þyîû ¢›öìëû £yvþz¢ xšþ „þ›ªéôé~ Indian Indepen-

dence þ™y¢ £ëûÐ

23. (b)  1964 ¢yöìœ ~„þ !îöìŸ¡ì xy£z̃  îöìœ ¦þyîûöì“þîû !îû‹y¦Åþ
îÄyöìBþîû x•#˜hßþ ¢‚ßþiy !£¢yöìî xyd²Ì„þyŸ „þöìîûÐ

 1976 éôé 16 öšþîÊ&ëûy!îû RBI öíöì„þ xyœy”y £öìëû ~„þ!Ýþ
ßþºŸy!¢“þ !˜†öì› þ™!îû’“þ £ëûÐ

 2004 ¢yöìœîû xöìQyîîû ›yöì¢ îy!’!‹Ä„þ îÄyöìBþîû ›ëÅy”y
þ™yëûÐ

 ¦þyîûöì“þîû î,£ê– ›yGþy!îû ç Ç%þo !ŸöìÒ ›•Ä› ç ”#‡Åöì›ëûy”#
}’ ²Ì”y˜ „þöìîû “þ_́yî•y˜ „þöìîûÐ

 x‚Ÿþ™e ç }’þ™öìeîû xîöìœ…öì̃ îû xíÅyê ~îû ”yëû¦þyîû
@ùÌ£’ „þöìîûÐ

24. (c)  1 xy†ÞÝþ ¢yîûy !îÙ»‹%öìvþü çëûyÓÅþ !šþ˜öìÝþ„þ övþ þ™y!œ“þ £öìëû
ö†œéÐ

25. (d) !¢öì˜›yîû þ™”Åyîû ²Ì!“þšþœöì˜îû ²Ì„,þ!“þ !î!Çþ® ²Ì!“þšþœ˜Ð
!¢öì̃ ›yîû þ™”Åy ›¢,̃  ˜ëû …¢…öì¢ £ëû šþöìœ Šé!î ²Ì!“þšþ!œ“þ
£öìëû ¢y›öì̃ îû ¢î ‹yëû†yëû îöì¢ íy„þy ”ŸÅöì„þîû ö‰þyöì…îû
¢y›öì̃  š%þöìÝþ vþzàþöì“þ ¢y£yëÄ „þöìîûÐ

26. (a) 1909 !…ÊÞÝþyöì·îû 1 ‹%œy£z ›”˜œyœ !•‚vþüy œuþöì̃  „þy‹Å̃
vþz£zœöì„þ £“þÄy „þöìîû ¢y¦þyîû„þöìîûîû þ™!îû„þÒ˜yëûÐ 1909
!…ÊÞÝþyöì· 21 !vþöì¢Áºîû x˜hsþ œÇþ’ „þy˜öì£öìîû ˜y!¢öì„þîû
›Äy!‹öìßþTÉÝþ ‹Äy„þ¢˜öì„þ =!œ „þöìîû £“þÄy „þöìîû̃  ~î‚ ˜y!¢„þ
¡ìvþüësþf ›y›œy Öîû& £ëûÐ

27. (b)  xy£z̃  x›y˜Ä xyöì̈ yœ˜ Öîû&îû xyöì† œyöì£yîû „þ‚öì@ùÌöì¢
ö”çëûy xyöì”Ÿöì„þ x@ùÌ†y›# „þîûyöì“þ †yõþ#!‹ ¢îû„þyöìîûîû
„þyöìŠé 11 ”šþy ”y!î öþ™Ÿ „þöìîû!Šéöìœ˜Ð 1930 ¢yöìœîû
30 ‹y˜%ëûy!îû þ™ëÅhsþ ¢›ëû ö”˜Ð

 †yõþ#!‹ xyöì›”yîyöì”îû ¢îîû›“þ# xy×› öíöì„þ 78 ‹˜
¢”¢Ä !î!ŸÜT =‹îûyöìÝþîû @ùÌyöì›îû ›•Ä !”öìëû 240 ›y£zœ
þ™í ëyey „þöìîû̃ Ð ~£z¦þyöìî£z xyöì̈ yœöì̃ îû ¢)‰þ˜y „þöìîû–
ëy Öîû& £ëû 12 ›y‰Åþ ~î‚ †yõþ#!‹ 6 ~!²Ìœ vþy!uþöì“þ ~„þ
›%öìàþy œî’ £yöì“þ “%þöìœ !˜öìëû xy£z̃ ¦þD „þöìîû̃ Ð

28. (a) ¢Á±!“ þ£zvþz!þ™~¢!¢óîû ö‰þëûyîû›Äy˜ !£¢yöìî !˜ë%_« £öìœ˜
²Ì#!“þ ¢%”y˜Ð !“þ!˜ ~£z þ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû# vþQîû ›öì̃ y‹
ö¢y!˜îû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

29. (b) ¦þyîûöì“þîû £!îûëûy˜y îûyöì‹Ä î˜¦)þ!›îû þ™!îû›y’ ¢îöì‰þöìëû „þ›Ð
î˜¦)þ!›îû þ™!îû›yöì’ ¦þyîûöì“þîû ›öì•Ä ²Ìí› ›•Ä²Ìöì”ŸÐ ¦þyîûöì“þîû
ö›yÝþ xyëû“þöì̃ îû 21.74 Ÿ“þy‚Ÿ î˜¦)þ!›îû myîûy xyî,“þÐ
ö„þwŸy!¢“þ xMþéœ=!œîû ›öì•Ä œyÇþym#öìþ™ î˜¦)þ!›îû þ™!îû›y’
öî!Ÿ ç ”›˜ ç !”vþzöì“þ ¢î öíöì„þ „þ›Ð

30. (a) !îû£y¨ ‹œ!î”%Äê ö„þw!Ýþ vþz_îû²Ìöì”öìŸ xî!ßþi“þÐ ~£z
‹œ!î”%Äê ö„þw!Ýþ !îû£y¨ ˜”#îû çþ™îû xî!ßþi“þÐ

31. (a) †œ˜yBþ îy !£›yBþ îœöì“þ ö„þyöì̃ y !˜!”ÅÜT “þyþ™›yeyëû „þ!àþ˜
þ™”yíÅ †öìœ “þîûœ þ™”yöìíÅ îû*þ™yhsþ!îû“þ £çëûyîû ²Ì!e«ëûyöì„þ
öîyGþyëûÐ ö„þyöì̃ y !îÖkþ þ™”yöìíÅîû †œ˜yBþ xy”ŸÅ “þyþ™›yey
~î‚ ‰þyöìþ™ ~„þ!Ýþ !˜!”ÅÜT “þyþ™›yey £öìëû íyöì„þÐ

32. (b) ¢Á±!“þ ²Ìëûy“þ !vþxyîû!vþçóîû !î!ŸÜT !›¢y£zœ !îKþy˜#îû ˜y›
îûy› ˜yîûy£z̃  xy†îûçëûyœÐ !“þ!˜ x!@À !›¢y£zöìœîû ‹˜„þ
!£öì¢öìî þ™!îû!‰þ“þÐ

33. (b) ¢y•yîû’ ¢Äyœy£zöì˜ ö¢y!vþëûy› ö„Ïþyîûy£zvþ oîöì’îû †y‘þüc
0.84%Ð

34. (c) îûy£zöì‹y!îëûy›– xÄyöì‹y!ßþ™!îûœy›– xÄyöì‹yöìÝþyîÄy„þÝþyîû ²Ì„,þ!“þ
x!•„þ vþzêþ™y”öì̃ îû öÇþöìe ÷‹î ¢yîû !£öì¢öìî îÄî£yîû „þîûy £ëûÐ

35. (a) ¦þyîû“þ#ëû ¢‚!î•yöì̃  !“þ˜ •îûöì̃ îû ‹îû&!îû xîßþiyîû „þíy îœy
£öìëûöìŠééôôôé (1) ‹y“þ#ëû ‹îû&!îû xîßþiy S352 ˜‚ •yîûyV– (2)
Ÿy¢˜“þy!sþf„þ x‰þœyîßþiy S356 ˜‚ •yîûyV– (3) xy!íÅ„þ ‹îû&!îû
xîßþiy S360 ˜‚ •yîûyVÐ

36. (a) ¢Á±!“þ íy£zœÄyöììuþîû ²Ì•y˜›sþf# !£¢yöìî !˜ë%_« £öìœ˜ !þ™
!Ÿ˜yîyeyÐ !“þ!˜ ~£z þ™öì” !þ™ çöìëû‰þyëûy‰þy£zéôé~îû ßþiœy!¦þ!¡ì_«
£öìœ˜Ð

37. (c) ö›y›îy!“þîû ”£öì̃ îû ¢›ëû ö›yöì›îû ö¦þï“þ ç îûy¢yëû!˜„þ vþz¦þëû
•öì›Åîû þ™!îûî“Åþ˜ ‡öìÝþÐ

38. (a) ¢yöìœy¢‚öìÙÕöì¡ì xÇþ› vþz!q”éôô Šéey„þ ç !œvþyîûçëûyÝÅþ ²Ì¦,þ!“þÐ
x˜Ä!”öì„þ £zvþz!@Õ˜y ç e«y£z¢y!›îy £œ ¢yöìœy„þ¢‚öìÙÕöì¡ì ¢Çþ›
²Ìy’#Ð

39. (b) “þîûy£zÐ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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40. (c) ¢Á±!“þ ~¢ ~¢ ˜yëûyîû “þy!›œ˜yvþ ›yöì„ÅþrÝþy£zœ îyöìBþîû

~›!vþ ~î‚ !¢£zç !£¢yöìî !˜ë%_« £öìœ˜Ð !“þ!˜ ~£z þ™öì”
„,þ¡Œ’ ŸBþîû Ö¼›!˜ëûyöì›îû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

41. (c) Daring

42. (b) Assuage

43. (b) Hindrance

44. (a) Postpone

45. (d) find unexpectedly

46. (b) raise

47. (a) cause to become very tired

48. (b) Sterile

49. (d) unfair

50. (c) deny

51. (c) passed the crisis

52. (b) pointedly

53. (a) He told that grass is green

54. (a) Why is time wasted by you?

55. (d) It is time for the bell to be rung

56. (a) over

57. (a) For

58. (b) from

59. (b) Although

60. (a) over

61. (a) Through

62. (a) progress

63. (a) To agree

64. (d) To make oneself comfortable in another
person’s home

65. (b) My grandmother told me not to sit on the wall.

66. (c) with

67. (a) deliberate murder of a whole community or
race

68. (d) was playing

69. (d) Clarify

70. (c) Omission

71. (c) †!“þöìî† = 36 !„þ!›/‡ ù̂Ýþy
5

36
18

   !›Ýþyîû/ö¢öì„þuþ

= 10 !›Ýþyîû/ö¢öì„þuþ
 20 ö¢öì„þöìuþ x!“þe«› „þöìîû 10 × 20 = 200 !›ÝþyîûÐ
öÝþÆ̃ !Ýþîû ÷”‡ÅÄ = 200 – 100 = 100 !›ÝþyîûÐ

72. (d) !ßþiîû ‹öìœ ö˜ï„þyîû öî† 12 8

2


  !„þ!›/‡ ù̂Ýþy

20

2
 !„þ!›/‡ ù̂Ýþy = 10 !„þ!›/‡ ù̂Ýþy

 24 !„þ!› öëöì“þ ¢›ëû œy†öìî
24

2.4
10
   ‡ ù̂ÝþyÐ

73. (c) B, 60% „þy‹ „þöìîû 21 !”öì̃

B, 100% „þy‹ „þöìîû 21
100 35

60
    !”öì̃

A ç B ~„þöìe 1 !”öì̃  „þöìîû
1 1

30 35
   x‚Ÿ

7 6 13

210 210


   x‚Ÿ

”%ó‹öì̃  ~„þöìe 65% „þy‹ „þîûöìî 210 65

13 100
   !”öì̃

21 1
10

2 2
  !”öì̃

74. (b) ö‰þïîyF‰þy!Ýþ þ™)’Å £öìî
6 12

6 12





 ‡ ù̂Ýþyëû

6 12

18


 ‡ ù̂Ýþyëû = 4 ‡ ù̂Ýþyëû

75. (a) ‰þe«î,!kþ ¢%”
n

r
(I) P 1 1

100

      
   

4
10

I 32000 1 1
100

      
   

4
11 14641

32000 1 32000 1
10 10000

                
4641

32000 14851.2
10000

  

¢îûœ ¢%” Pr t 32000 10 4
(I) 12800

100 100

 
    Ýþy„þy

xhsþîû = (14851.20 – 12800) = 2051.20 Ýþy„þy

76. (c) 66 !œÝþyîû !›×öì’ ”%• 5
66 55

6
    !œÝþyîû

‹œ
1

66 11
6

    !œÝþyîû

55 5

11 x 3
 


 îy– 11 + x = 33 îy– x = 22

77. (d) •!îû– ¢‚…Äy ”%!Ýþîû ¢y•yîû’ vþzêþ™y”„þ = x
xíÅyê ¢‚…Äy ”%!Ýþ 2x ç 3x
xy›îûy ‹y!˜–
”%!Ýþ ¢‚…Äy =’šþœ = “þyöì”îû †¢y= × œ¢y=
îy– 2x × 3x = 48 × 8
îy– 6x2 = 48 × 8

îy– 2 48 8
x

6




îy– x = 8
 î,£_› ¢‚…Äy!Ýþ = 3 × 8 = 24

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 6  xöìQyîîû– 20244

78. (b)
1 1 1

1 1 1
1 1 3

2 2 2
1 2 21
3 3

    
  


2 9
1

7 7
  

79. (a) •!îû– 2x = 3y = 6–z = k
2x = k 3y = k 6–z = k

11 1
yx z2 k 3 k 6 k


  

~…˜–
11 1
yx z2 3 6 k k k


    

îy–
1 1 1
x y zk k
 
  îy–

1 1 1

x y z
  

îy–
1 1 1

0
x y z
  

80. (b) ²Ì„,þ“þ †vþü       71 14 42 74 56 32

17

    


 994 116 88 994 28 966
69

17 17 14

  
   

81. (b) ¢y£zöì„þœ xyöìîûy£#îû †vþüöìî†
8 4

8 4
15 20

 
 
  
 
 

 !„þ!›/‡ ù̂Ýþy

12
44
60

 
 
  
 
 

 !„þ!›/‡ ù̂Ýþy
60

12
44

   
 

 !„þ!›/‡ ù̂Ýþy

= 16.36 !„þ!›/‡ ù̂Ýþy

82. (b)
3 7 5

x : : : :
7 9 9

 îy–

7
x 9
3 5
7 9

  îy–
7 3 9

x
9 7 5
  

îy–
3

x
5


83. (b) vþz¦þëû !î¡ìöìëû öšþœ „þîûy þ™îû#ÇþyíÅ#îû ¢‚…Äy

  100 65 55 – 40 %  

 100 80 % 20%  

ö›yÝþ þ™îû#ÇþyíÅ#îû ¢‚…Äy
100

40 200
20

    ‹˜

84. (d) 10% ç é16%ôé~îû ¢›“)þœÄ Šéyvþü

10 16
10 16 %

100

    
 

= (26 – 1.6)% = 24.4%

xyîyîû– é24.4% ç 25%ôé~îû ¢›“%þœÄ Šéyvþü

24.4 25
24.4 25 %

100

   
 

 49.4 6.1 % 43.3%   
85. (a) •!îû– P þ™yëû x Ýþy„þy

Q þ™yëû (x + 30) Ýþy„þy
R þ™yëû (x + 30 + 60) Ýþy„þy = (x + 90) Ýþy„þy
x + 90 + x + 30 + x = 300
îy– 3x + 120 = 300 îy– 3x = 180 îy– x = 60
 éPôé~îû þ™!îû›y’ = 60 Ýþy„þy
Qéôé~îû þ™!îû›y’ = (60 + 30) = 90 Ýþy„þy
Réôé~îû þ™!îû›y’ = (60 + 90) = 150 Ýþy„þy
 !“þ˜‹öì̃ îû x‚öìŸîû þ™!îû›y’
= 60 : 90 + 150 = 2 : 3 : 5

86. (c) •!îû– ¢y•yîû’ vþzêþ™y”„þ = x
¢‚…Äy ”%!Ýþ ëíye«öì› 2x ç 3x

¢%“þîûy‚
2x 50 1

3x 50 4





îy– 8x – 200 = 3x + 50 îy– 5x = 250 îy– x = 50
¢‚…Äy ”%!Ýþîû öëy†šþœ = 2 × 50 + 3 × 50
= 100 + 150 = 250

87. (d) •!îû– !˜öì’Åëû †vþü îûy˜ = x
²ÌÙÀy˜%¢yöìîû– 16x – 15 (x – 3) 81
îy– 16x – 15x + 45 = 81 îy– x = 81 – 45 = 36

88. (b)  80 100 %
920

800
92

 

ö›yÝþ œy¦þ
800 15 800

15 25%
92 92 100


   


89. (b) î“Åþ›yöì̃  þ™%öìeîû îëû¢ = x îŠéîû

î“Åþ›yöì̃  !þ™“þyîû îëû¢ = 2x îŠéîû
20 îŠéîû xyöì† þ™%öìeîû îëû¢ !Šéœ = (x – 20) îŠéîû
20 îŠéîû xyöì† !þ™“þyîû îëû¢ !Šéœ = (2x – 20) îŠéîû
 ²ÌÙÀy˜%¢yöìîû– (2x – 20) = 12(x – 20)

 2x – 20 = 12x – 240
 10x = 220
 x = 22

90. (b) Aôé~îû ~„þyîû „þy‹ 10 !”˜
Bôé~îû ~„þyîû „þy‹ 12 !”˜
ç Côé~îû ~„þyîû „þy‹ 15 !”˜
•îûy ëy„þ– ¢Á™)’Å „þy‹!Ýþ £öì“þ x !”˜ ¢›ëû œyöì†

x x 4 x 1
10 12 15

   

6x + 5x – 20 + 4x = 60
15x = 80

 80 1x 5
15 3
  !”˜

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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——————

91. (d) 3, 5, 8 ç 12éôé~îû œ¢y= = 120

þ™¤y‰þ xöìBþîû î,£_› ¢‚…Äy!Ýþ £œ 99999

99999 ö„þ 120 !”öìëû ¦þy† „þîûöìœ 39 ¦þy†öìŸ¡ì íy„þöìŠéÐ
 þ™¤y‰þ xöìBþîû î,£_› ¢‚…Äy!Ýþ (99999 – 39) + 2
= 99962

92. (a) öÇþešþœ 1 32 24 384
2
    þî†Å ö¢!›

93. (c) ÷e›y!¢„þ !£¢yöìî ¢%” (r) =
20

5%
4


¢›ëû = 9 ›y¢ =
3

4
 îŠéîû

t
r

C.I. P 1 1
100

       
   

3
5

16,000 1 1
100

      
   

3
21

16,000 1
20

     
   

9,261 8,000
16,000

8,000

   
 

1,261
16,000 2,522

8,000
   Ýþy„þy

94. (d)
2 2 2a b c

bc ca ab
 

3 3 3a b c 3abc 3
abc abc
   

[a+b+c = 0, a3+b3+c3 = 3abc]
95. (b) ‰þy„þy!Ýþ 140 îyöìîû ëyëû = 2 ×  × 30 × 140 cm

= 26400 cm

 ‰þy„þy!Ýþîû †!“þöìî† 26400 60
100000

 km/hr

= 15.84 km/hr

96. (a) •!îû– î£z!Ýþîû •yëÅÄ›)œÄ = 100 Ýþy„þy
!îe«ëû›)œÄ = 90 Ýþy„þy

`

e«ëû›)œÄ 100 90
(100 12)
 


 e«ëû›)œÄ ƒ •yëÅÄ›)œÄ 100 90 :100

112
 

= 90 : 112 = 45 : 56
97. (d) ›öì̃  „þ!îûû A-~îû e«ëû›)œÄ x Ýþy„þy

100 20 100 –10x 216
100 100
   

216 100 100x 200
120 90

x 200

   


 

98. (d) ~£z îê¢öìîûîû öŸöì¡ì “þy£yîû xyëû

8 10
4000 1 1

100 100
        
   

Ýþy„þy

2 1
4000 1 1

25 10
          
   

 Ýþy„þy

27 11
4000

25 10
   Ýþy„þy = 4752 Ýþy„þyÐ

¢%“þîûy‚– ”%£z îê¢öìîûîû öŸöì¡ì “þy£yîû xyëû 4752 Ýþy„þyÐ

99. (a) 6700 81
64

300
161
139

161

 (81 + 1)2 = 6724
 (6724 – 6700) = 24 öëy† „þîûöì“þ £öìî

100. (b) ö‰þïîyF‰þy!Ýþöì“þ ë…˜ !Šéo íyöì„þ “þ…˜ 1 !›!˜öìÝþ ¦þ!“Åþ £ëû
1 1

50 150
   
 

 x‚Ÿ

3 1 2 1

150 150 75


    x‚Ÿ

 ö‰þïîyF‰þy!Ýþ ¢Á™)’Å ¦þ!“Åþ £öì“þ ¢›ëû œy†öìî 75 !›!˜Ýþ = 1
‡ ù̂Ýþy 15 !›!˜Ýþ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


